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Simplify each expression by factoring.

x° - 3x% - 4x
xt+2x3 + x? + 2x

Factor the top: Factor the bottom:
X - 3x° - 4x X+ 23+ X2+ 2x
GCF: x GCF: x

Q- 3x2 - 4) D +2x7 +x+2)

actor inside the (). Factor inside the ().
Use the ac method Use the grouping method
1%-4=-41+-4=-3 X(x+2) 1(x+2)

X2 + 1)(x2 - 4) x(x? + 1)(x + 2)
Use perfect square factoring

Al - 2)(x52) o s 22

Find the common factors and cross them out. What's left?

x-2) Reduce it:
1
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Simplify each expression by factoring.

6x3 - 24x? + 30x - 120
9x* + 36x? - 45

Factor the top: Factor the bottom:

6x3 - 24x? + 30x - 120 9x* + 36x? - 45

GCF: 6 GCF: 9

6(x3 - 4x? + 5x - 20) 9(x* + 4x? - B)

Factor inside the (). Factor inside the ().

Use the grouping method Use the ac method

x*(x-4) 5(x-4) 9(x? + 5)(x? - 1)

6(x%+5)(x - 4) Factor using perfect square.
6(x? + 5)(x - 4) 9(x? + B)(x - 1)(x + 1)

So you have: ZA‘N)(X -4) B
29045)(x - D(x + 1)





image3.png
Simplify the expression by factoring.

6x* - 3x3 - 63x*

12x? - 84x
Factor the top: Factor the bottom:
6x" - 3x3 - 63x° 12x? - 84x
GCF: 3x? GCF: 12x
3x%(2x? - x - 21) 12x(x - 7)
Factor using ac method. NO MORE TO FACTOR.
(@x - 7)(2x +6)
3x%(2x - 7T)(x + 3) 12x(x - 7)

Put them fogether: $x¥2x-7)x+3) =
yRX(x-7)





